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SCHOLARS ACADEMY

1.

a)
c)

a)
c)

a)

[ REASONING ]

300 ) 3T W 3GER 'PQ W @4 W, &t T
TP & g9 a1 Tt gUvT yiafad HT aa=T Piforg|
Select the correct mirror image of the given figure
when the mir:or is placed at 'PQ’ as shown.

Q

Pl | |52

(6] (1n) (111) (1v)
[ b) Il
1I d) v

I fawd &1 o9 o R snpfa afafga 8t 2
(gui Y argafa e ) |

Select the option in which the figure is not
embedded (rotation is NOT allowed).

<
& B € &8

(1) (1I) (II1) (V)
| by i
[ dy Iv

T YT s W #, '2567° &) 'BEFG' & ¥U H
HIfSa frar Tar @ 3R '1428' F 'ADBH' & =0 A
HIfST frar a1 31 THH HT # 13879 # fFW yeR
wifsa forar srgm

In a certain code language, '2567' is coded as 'BEFG’
and ‘1428’ is coded as 'ADBH'. How will ‘3879’ be
coded in that language?

CIGH
CIHG

TP UY & q1¢ & $U (1) 3R (1) T 7w &1 3muw! a8
fAuifea e 8 f5 sy=t & § 78 @ vy 71 W
1 F fouw yafa g a1 781 Y By B U iR
JUGT IR BT I B |

Uy ; uf3ed ofd | 1 q 7 9 HHifPd U ufqa # 7 W
g1 A B, C D, E F 3R G T Ufdq # SR 9t 3R
qERd g1PY 98 &1 A, B 3R € I T&T qreft el )
I3 €1 F 1 e T w82

DY :

(1) D, BF Fpcy @ 5181 A 3R B & diw dF
AR IS EIERGHFITAFZIA BH ST ST B
MEAFTHITN YA RS FIRcF I dA
e 38 &

b) CHGI
d) CGIH

a)

c)

a)

c)

a)

c)

A question is given followed by two statements (l)
and (II). You have to decide whether the data
provided in the statements is sufficient to answer
the question. Read both the statements and select
the appropriate answer.

Question: There are seven seats in a row numbered
from 1 to 7 from west end. A, B, C, D, E, F and G are
sitting in a row and facing north. A, B and C are
sitting on even numbered seats. What is the seat
number of F?

Statements:

(I) D is to the immediate right of B. Three persons
are sitting between A and B. F is between E and G. A
sits to the right of B.

() F is to the third left of A. Three persons are
sitting between F and G.

HYT | 3R BYT Il Bl b) b PUT I H & T

T Uh 1Y YUY hT 3R
A ¥ R uoiw & R
Data in statement | and
statement Il together is
not sufficient to answer
the question

HYT | 3R FYF 1| H G d)

TS T UY &1 SR o &
ﬁ“l'q i % Data in
statement I and
statement Il together is
sufficient to answer the
question

T U BT IW & D
fore wafa § Safs & |
& I U T8l § Data
in statement Il alone is
sufficient to answer the
question while data in
statement | is not

e BT | H & TS g
UY B SW &7 & oY
T § e HYF 11 Bt
a1 vaie g § Data in
statement | alone is
sufficient to answer the
question while data in

statement Il is not

&R} P I FASH BT 997 Biford o d § 7 3ier
YA & fRTA W HiA® U A W@ W e G g
1

Select the combination of letters that when
sequentially placed in the gaps of the given letter
series will complete the series.

X Z bexy a
aaxzy b) ybzby
axxcb d) yazbc
gt #1 oY Rufeat R gxifs 7€ €1 6" a8 waw &
fadtaar smeem?

Two positions of the dice are shown below. What
will come opposite to the face containing "6"?

1 b) 2
3 dy fFuffea & fasar ST gwar

Cannot be determined
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SCHOLARS ACADEMY

7.

a)
c)

a)
c)

a)

c)

T M e &1 wryde srwmg P iR 9w
@I PT 999 Hifog ot I9H Uy RiE ) A
AfrRRITT B HHl 71

Study the given pattern carefully and select the
number that can replace the question mark (?) in it.

33 |18]27

52 |22(19

11 |25]32

1922 | 156
138 b) 122
130 d) 118

feu U fawenl ¥ | I W FT U9 FIW Y
ﬁaﬁr?aﬁ@mﬁuaﬁg(?)ﬁuﬁwﬁam
Tadt 2l

Select the number from among the given options

that can replace the question mark(?) in the
following series.

19, 23, 32,48, 73,?

109 b) 103

93 d) 98

feT e wyEl & Fafafea & @ o o froed Ffia
U & frerar o wwar g2

DY :

PO Mirrors, Glasses ?I
T4t Glasses, Strong gl
P Strong, Fragile gl
= :

a) 99 Mirrors, Strong gl

b) O Glasses, Fragile ?I

c) gt Mirrors, Strong ?I

d) ¥ Mirrors, Fragile %I

Which of the following conclusions can definitely be
drawn from the given statements?
Statements:

Some Mirrors are Glasses.

All Glasses are Strong.

Some Strong are Fragile.
Conclusions:

a) Some Mirrors are Strong.

b) Some Glasses are Fragile.

c) All Mirrors are Strong.

d) Some Mirrors are Fragile.

Fad Py (a) WU b) Had AN (b) MR (0
FRd 3

Ddl %I Conclusion (a) SR

follows only Conclusion (b) and (c)
follow only

Fad By () 3R (d) d) Pad A=Y (@) AR (b)

WU I & AIWU B ©

Conclusion (c) and (d) Conclusion (a) and (b)

follow only. follow only

10.

a)
c)

11.

a)

12.

c)

13.

a)
c)

14.

a)

c)

15.

g Tl § Tga T o1 9t a1 I 81 1 98 2 km
JIWR B SR T SR B 91 PR 5 km TaT &)
Y 9% 3 km <fé0T B} SR AT IR PR TC gear &
3ﬁ§4kmm%|q§3mﬁmanaﬁmﬁmmn

Nandu was walking in a street when rain started. He
went 2km north and then turned left and moved
5km. Then he went 3km south and again took a left
to move 4km. In which direction is Nandu from his
initial position?
E'f\&I'UT—Qﬁ South east
GT‘R-CIﬁ North east

b) TI&UI-Ufgd South west
d) Gf&Ur South

Uld ERT-3ET SRI ABCD R E & I1@ 20,
30,40,50 3R 60km/hr 8, TIAS 5! {5 TA HH
# 81| $ad TP PR B! I PR A 9§ 3P §1 PR D
I 919 FR B ¥ HH § AP IR C 3t 99 ¥ iU
81 PR E T 91 SR B | P 31 HR E B a0
foait 2

The speed of five different cars A,B,C,D and E are
20, 30,40,50 and 60km/hr not necessarily in the
same order.Only one car had speed greater than car
A.Car D had speed lower than car B but greater than
the speed of car C. Car E had speed higher than
carB. What is the speed of car E?

40km/hr b) 30km/hr
60km/hr d) 20km/hr

3" P HiU® U A ¢ F e yfawitiid $31 & fow
iR gl & 98 WaeE &1 99 Sk R
fFrafafaa e o dgfea sifm

Select the correct combination of mathematical
signs to replace 'Y’ sequentially from left to right
and balance the following equation.

145183 (24> 16)

X=-= b) =+X-
X+=- d) =X-+
faww 319 #9)

Find the odd one out:

ABB b) BCF
CDL d) DES

fFrafafaa ser & $19-91 3eR T4g vy [E ) &1
R A

Which letter cluster will replace the question mark
(?) in the following series?
ARM, DWO, IBR, LGV, ?
PKB

QKB

Tfg 'a' &1 3 SieAT 8, 'b’ BT 3 Ger T @, ¢’ B1 A
T[UNT BT § YT 'd’ BT 4f UM BTG, Al 12 c 11 b
216d3b 19 &1 U fara-1 82

If 'a’ means addition, 'b' means subtraction, ‘c
means multiplication and 'd’ means division, then
what is the value of 12c 11 b 216 d 3 b 19?

b) PLA
d) QLA
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SCHOLARS ACADEMY

a) 39
c) 79

16. TP TGR SIS B 1 GTT 7T AR &1 TWRON |
([er Y@ ¥ sgfew) e smar 21 o@,
RITY TTY STHR G §Y HITS | T BT GaYS PIeT
STdT 8 | I SRTS St 3UP d &Y | Wil ol g, at
PN R far tays (baa gof srepfaal &t R
ST B) B2

A square paper is folded in as shown below in two
steps (along the dotted lines). Now, a small
pentagon is cut out of the folded paper as shown
below. When the paper is unfolded to its original
form, how many pentagons(only complete figures
are counted) will be on the paper?

L
L O
Sl B

b) 60
d) 41

a) 2 b) 8
c) 0 d) 4

17. W%W%WWWﬁmﬁm
[

Arrange the following words as per the order in
dictionary.

1- Venomous

2- Ventrose

3-Veneration

4-Vengeance

5- Ventilation
a) 43521 b) 31425
c) 43251 d) 34152

18. PR Uy sy RemE iR sTvu &
= < frerd fw U €1 39 fae &1 9= Hifvre

A &Y A JId 941 B saga-n sd g¢ fqw T

FYNl BT dAfbe FT A WU TRA A

s /foreput ot gEifar 21

DY

ot tutors, teachers %'I

W masters, guides ?I

PO tutors, masters %I

I. ?ﬁé tutor, guide qﬁ%l

1. B teachers, guides %'I

In the following question, three statements are
given and two conclusions are given below these
statements. Choose the option which shows the
conclusions which logically follow from the given
statements, disregarding commonly known facts.
Statements:

All tutors are teachers.

All masters are guides.

Some tutors are masters.

Conclusions:

Mob. - 01141676717,9312712114

a)

c)

19.

a)

c)

20.

a)

c)

21.

a)
c)

22.

I. No tutor is a guide.

Il. Some teachers are guides

$ad | MTEU BT & b) Had |l IRV BT §

Only | follows Only Il follows

| 3R Il SFT SFIRRUT A d) Al | 3R T 8 1l IR0

%Both | and Il follow Ddl % Neither | nor I
follows

Frafafey IR @ gwl | 9 99 e A vor @
9 § SR T fira 31 faww &1 93

Three of the following four number pairs are alike
in a certain way and one is different. Pick the odd
one out.

10:280
6:108

afg & 7S snpfa &1 afdronad fa=m # 135° 3k fr
qrTad fe=m o 315° Yol w=rar omar 8, O 39 PR
PIF-31 i ure gt

Which of the option figures will be obtained if the
given figure is rotated by 135° in a clockwise
manner and then by 315° in an anticlockwise
manner?

®,
& % || |w

(U} (Iny i (Ivy
| b) I
i dy Iv

Th faféa HIS HTST 'ef, draw card must T BIS ti mi
pi, card was not plastic T PIS oi pi ji ki dYUT plastic
was bad &T $ISni oi ji %|

was $T IS HT %7

In a certain code language, draw card must is coded
as ti mi pi, card was not plastic is coded as oi pi ji ki
and plastic was bad is coded as ni oi ji.

What is the code for was?

Oi b) Ki
Ji d) dg el fpar o1 g g

Can't be determined

fFafafea SFe™ #1 aryde 1 o TE e

BT TG PY

'Ky L BT K, L b1 far g1

'K E L BT AT K, LPTHTS B

'K & L' &7 31 K, L &t 91T 3|

'K$L BTIAFK, LBTTARI

gmﬁ@aﬁﬁﬁwmmfugiﬁmﬁ? 'R, O BT HIHA
]

Read the following information carefully and

choose the correct option

'K > L' means K is the father of L.

'K £ L' means K is the brother of L.

b) 12:432
d) 11:363
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SCHOLARS ACADEMY

c)

23.

a)
c)

24.

a)
c)

25.

a)

26.

a)
c)

27.

a)
c)

28.

a)

'K 2 L' means K is the mother of L.

'K $ L' means K is the son of L.

Which of the following would imply that 'R is the
cousin of 0'?
OOMS$VER

O$MEV YR

fOrar &Y oy 3R T BT MY FT U 4:1 g1 IADL
3T BT UHETBA 196 g1 5 94 qI¢ IAD! 3ATg BT
3uTd fpa= g

The ratio of the father's age to the son's age is 4: 1.
The product of their ages is 196. What will be the
ratio of their ages after 5 years?

11:4 b) 3:1

4:11 d) 1:3

¥ fawed 31 9949 Fiforg e 2reg W yor a9
WY HH B € o TR 3T Y Tl & g gw
e g M €l

SURIR :

Select the option in which the words share the same
relationship as that shared by the given pair of
words.

Umpire: Cricket

Slaex : T Doctor : Nurse b) Ol : DI Judge : Court

b) RINOW$O
d) REW$MAIO

URIST : &l President : d) W : AF Inspector :

Country Thief

IR e gw Ry e g, | § @i Bt e &
A § R TP @ g1 39 fAdey &1 a9 3%,
R e g A 3|

Four number pairs are given out of which three are
alike in some manner and one is different. Select
the option in which the number pair is different.
7:350 b) 2:10

11:132 d) 5:130

[ GENERAL AWARENESS ]

AR AP frw uRdg ARdT @ WA F
fure® &7

Sharodi Saikia is an exponent of which Indian

classical dance form?
T T Sattriya b) PGSl Kuchipudi

HIYJATCIH Bharatanatyam d) Y Kathak

YR A giot § faq fay su sfia 2
How many World Cup India won in hockey?
IR Four b) T Three

TUdh One d) EﬁTwo
FHIAC IR F AWD DI 32

Who is the author of 'Home in the World'?

AMAH AW Amitav b) 3 9 Amartya Sen

c)

29.

a)

c)

30.

a)

c)

31.

a)

c)

32.

c)

33.

a)

c)

34.

a)

c)

35.

Ghosh
T AMGS! Jhumpa Lahiri d) .. AT JK Rowling

Hioid wewy Frafafed 3 9 5 aergiu d Ra 82
Mojave Desert is located in Which of the following
Continent?

TRAT Asia b) 3[WBIHT Africa

I SMR®T  North d) aféor  S@R®T  South
America America

Ryt ulge o T Hafed g1

The term 'silly point 'is associated with

AT Tennis b) SRCHTd Basketball
fohape Cricket d) aﬁﬁﬁﬁVolley Ball
FlerfFEfifRa A A fFa T F e wRE 2

Kota is located on the bank of Which of the
following River?
Idd Chambal
SdaT Betwa

b) ISR Sabarmati
d SRF § I & 78

None of the above

AR # % g af IRer & 7€ § w=man
IGIE]

Cheiraoba, the lunar new year in Manipur, is
celebrated in the month of

3 April b) TdsR November

R December d) SRt January
@1 are # MY faxT feaw weman S 71

National science day is celebrated in the memory of
W Tifde XRMEI Har b) i dl. I8 C.V. Raman
Gobind Khurana

TS, Sfogdd DclH APJ d) Gﬂ:lﬁ@:[Amartya Sen
Abdul Kalam

fFrafafea & @ $1-91/3 Ty 99 3/8?

Which of the following statement(s) is/are true?

gt W SAR/GT F b) A F bg W s
e q fie &1 YR 9¢ &1 YR LI 8l § The
ST § The weight of a weight of a body at the

body increases  with centre of earth is zero
increase of altitude on

earth

e W fd U8 &1 YR d) Tt T B Al are true
gt Y gorT H 3R giar

% The weight of a body
on the moon is greater
than on earth

fFafafae & ¥ Sidl &1 S99 9qg iR &
WS 7@ # WeTa® gl o7

Which of the following groups of organisms help in
keeping the environment clean?

Wesen 3R RAdd b) @ IR ARPA/AdS

Protozoa and Algae Algae and Lichens

Mob. - 01141676717,9312712114
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c)

36.

a)
c)

37.

a)

c)

38.

a)

c)

39.

a)
c)

40.

a)
c)

41.

a)

c)

Tiersian 3R d) offam] 3R Fad Bacteria
?Iﬁav_rf/m Protozoa and Fungi
and Lichens

fora 32 7 g1 1 ® ‘Fengyun-3’ IUUE @ig fHar @ 2
Which country has recently launched ‘Fengyun-3’
satellite?

YRd India b) M China
WIUT Japan d) SARBT America
fFafafaa & ¥ f5g uer o1 sfufear & snar iR

&R TR AFUTRAT B3 @quT 3R I -1 &2

In which of the following type of reaction, an acid
and a base react with each other to form salt and
water?

HareH fNfaT b) SmEed Sfufemar
Combination reaction Decomposition reaction
ISR (FeyEd) d) oo 3iffepar

ANUfHAT  Neutralization

reaction

Displacement reaction

gl

The purpose of setting up the NARCListo __

NARCL 3 RITYTT T 3]G

dp P IR b) SHGERE oREreIa %
TR /aREYfaT foQ B0 UGH B11 Give
G'I'm"'ﬂ%ﬂ Pl Acquire loans for infrastructure
stressed assets of banks. projects.

N w1 fodg Terar d) Jdefe &3 & d@! |

UGH &Il Provide  gRNA @I gfael
financial  support to Facilitate good
agriculture. governance in  public

sector banks.

3T # gRfE uRadd Sad a1 & e o w9y
3afy P fore R 3iftre aa FY Fa1 HeT wTdT 82

A large force acting for short time period to
produce finite change in momentum is called

§d Force b) 3MTaT Impulse
SIS Inertia d) <ld Pressure

fFafafae & @ $9-91 Aew 39 gt & welfa
HdT & o WS T () ara W emefa fomar sian
2, P it vt § @ g, &) ongat A
YRP AT P! 81 PN 3R STl BT Bl qTid
e g

Which of the following refers to a Hundi that is
drawn against dispatched goods, so that tf goods
are lost in transit, the drawer or holder bears the
coasts, and the Drawee carries no liability?

foaf-ST (Firmano-jog) b) T8-S (Sah-jog)
SRHAT Jokhmi) d) Y-S (Dhani-jog)

GUTY °% &I BT 0H R Bl
Subhash Chandra Bose birth place is___

HER, dHAAG  Karur, b) IHTG, JRWS Ramgarh,
Tamilnadu Jharkhand

Fed, NS Cuttack, d) SITETE, HERTY

42.

a)
<)

43.

a)

c)

44.

c)

45.

a)

c)

46.

a)

c)

Odisha Aurangabad, Maharashtra

SIferaiaTen a1 gaTPis & Way # Fufafed ad w
faR FifoT SR 3 S & wU | WE YT B
I HIfeY|

a) Yeie TR & fIvs SrdIy & HRUT SIferaiarar aw
waurgs 4

b) §ex SR 1927 # frgaa fsar mar um
Fafafed faeel & @ 9 Sw gl

Consider the following facts about Jallianwala Bagh
Massacre and choose the correct statement as your
answer.

a) The gathering at Jallianwala Bagh was due to
dissatisfaction against the Rowlatt act.

b) The Hunter Commission was appointed in 1927.
Choose the correct answer from the following
options.

&4dd (a) Only (a) b) Had (b) Only (b)

(a) 3R (b) SHIBoth (@ d) Qzl'f-‘f T aﬁé 8! None of
and (b) these

5 9% 7 durel Siea & Wy 9g-3YR gagi«ar
frar 32

Which bank has entered
agreement with Paisalo Digital?

Pich &P Karnataka b) g%ﬂ?%lndian Bank
Bank

§% Sffth HERTY Bank of d) H-RIS® Canara Bank

Maharashtra

B1a 8 forg o9 ® YR F1 ugell 39 BRIYS a9 F1
T BT 2

India's first drone forensic lab was recently started
in which state?

into a co-lending

3NfS2M Odisha b) HERIY Maharashtra
JWRIGS Uttarakhand d) &d Kerala

31T HTed WIed 3 firen TuRIE 2023 A 5y
fireq o1 e 8w g - TT 1M

Which film was chosen as the 'Film of the Year' at
the Dadasaheb Phalke International Film Festival
2023?

HIART Kantara b) 3MR3R3R RRR

T PR WEA The d) FeRd U a4 Rmar

Kashmir Files Brahmastra Part One:
Shiva

HRA § O I B YR WRAYH & argdg 371
¥ $O WIEUEl & dgd faRiv ufwrar wra g1 ARy
ufFasTEEY A FI

Some states in India enjoy special powers under
certain provisions of Article 371 of the Indian
Constitution. The special power is related to ______

Uy BRI & W0 b) WHld & W
Protection of land rights Protection of culture

WHRT Jarsft # AT d) Iwad Tt All of the
e

Preferential above

Mob. - 01141676717,9312712114
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employment in
government services

47. fdgar ¥ "afla g1
Bindusara is associated with .
a) U ISEYW  Mauryan b) E ISTER Nanda Dynasty
Dynasty
c) 7SI Sunga Dynasty d) JTddIg Satavahanas

48. ¥ "3fUdgr A HEfRE Bl

Word "Epicentres” is related to
a) d1g Flood b) FATH Tsunami
c) Y&HU Earthquake d) Tt Al of them

49. FufafEa & @ 919 W1 suic¥ &1 AER § ok

AT 99 9 TUT IRIT BT Y3 HRaT 82
Which of the following is a festival of merriment
and heralds the Assamese New Year and the onset
of spring?

a) SfeN-U-foFHT Ali-ai-ligang  b) H-GH-H-W Me-Dum-Me-

Phi
c) 8T fag Bohag Bihu d) fc fag Kati Bihu

50. IHSHNT Wd W faar #ifve o fFafafea 4 @
TAd g BT T4 B
%) HHATY HSd- SHH SISl IR (SNSFEBIR) gielt

|

b) &lyHEd- gt F Tad fAwe gt g1
) ATAHSH- Tl & qIgHSd Pt gad I8 W
gl 81
frufafaa faeedl & @ gf:
Consider the atmospheric layer and select the
incorrect pair from the following.
a) Stratosphere-It contains the Ozone layer
(ozonosphere) .
b) Troposphere-Closest to the Earth.
c¢) lonosphere-The outermost layer of Earth's

atmosphere.
Choose from the following options.
a) 9ad (b) Only (c) b) %ad (a) Only (a)
c) &Had (c) Only (b) d) SWdad @t Al of the

above

[ QUANTITATIVE APTITUDE ]

51. mﬁﬁaﬁ%ﬁaﬁg%wmwag/g?m .
A) T& HHA] RIT 5
B FHSI IR FATGHTT Hd 71
B) TF aif A i@l RaR 3d ¥ ok & g &t
WD TR FAGHTIRG P B
Which of the following statement is true?
A) In a rhombus, diagonals are equal and bisect
each other at right angles.
B) In a square, diagonals are equal and bisect each
other at right angles.

a) HIAATTE Only Atrue. b) PId B IH g Only B true.

c) ASIRBEFITUAEBothA d) A 3R B H I Fis off I

and B true. Qﬁ%None of the A and B
true.

52. XM W $&hd §¢ TP &1 50 km/h B 3NEa 916 |
e FRAl ¢l AfG I8 o uid 9¢ sivra 20 fime
IHal 8, a foAr frdft RxM R 3% 24 @) i =ra
T B
A train with stoppage travels with an average speed
of 50 km/h. If it stops on an average 20 minutes per
hour then find the average speed of the train

without stoppage.
a) 58 km/h b) 64 km/h
c) 80 km/h d) 75km/h

53. Tfg 8a’+ 27b° = 16 3R 2a + 3b = 4 §, dl6a’ +
81b* ®T A F1d HIforQ|
If 8a® + 27b% = 16 and 2a + 3b = 4, then find the
value of 16a* + 81b*.
a) 26 b) 30
c) 28 d) 32

54. Ofe T AYS Ft & Y8 14 cm 3R 23 em T,
ﬂﬂﬁ?ﬁﬂ'\?f Wmm(range)aﬁﬂﬁml
Find the range of the third side if two sides of a
triangle are 14 cm and 23 cm.

a) 9 3R 37 & & Between b) 19 3R 27 & T Between

9 and 37 19 and 27
c) 12 3R 25 & o9 Between d) 7 3R 18 & S Between
12 and 25 7 and 18

55. U® NP P! HuTs SHD! a1 F ST 21 afe T
BT TG 19.404 cm® B, Y Wi @1 FBrsun y1a Fifm|
The height of a cone is twice of its radius. If the
volume of the cone is 19.404 cm’then find the
radius of the cone.
a) 2.1cm b) 14 cm

c) 3cm d) 0.7cm

56. 9§ U® TIRE-3P UWIT 763568946T5, 11 A
faursa 3, @ T &1 99 Sler 9 fhaen gm?
When an eleven-digit number 763568946T5 is
divisible by 11, then what will be smallest value of

™
a) 4 b) 3
c) 2 d) 1

57. U qUqd oHH W T fdg ¢ 9, ek & Ml &1
IF FIvT 30 71 AfS efaR & oMy A fig ¢ ot g&t
510 m ©, oY laX B HTE PT150% (m A) B :
From a point C on a level ground, the angle of
elevation of the top of the tower is 30°If the
distance of point C from the foot of the tower is 510
m, then 50% of the height of the tower (in m) is:

a) 85 b) 85v3/3
c) 85V3 d) 150V3
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58. & T3 ATPHfd H, CD,2LACB BT FAGHTSS &1 BDC HT
A1y foraT 31
In the given figure, CD is the bisector of ~ACB.
What is the measure of 2BDC.

a) 104° b) 109°
c) 100° d) 115°

59. (x +2y)® + (x - 2y)’ BT WelPpd ¥ &:
The simplified form of (x + 2y)® + (x - 2y)®is

a) 2x°+ 24xy’ b) 2x*- 24xy?
c) x-8y’ d) x°+ 8y’

60. Tl cot A =15/8 B, dl tan2A BT HIH T ERI?
If cot A =15/8 , then what will be the value of

tan2A?
a) 200/161 b) 240/161
c) 240/173 d) 220/171

61. 4,620 P! M 2 AN e freal & aro YA
B ST 71 Afg ST 10% aiffe o @ Wi fean
ST B, A U e (3 ) frah gl
A sum of ¥4,620 is to be paid back in 2 equal annual
installments. How much is each installment (in %) if
the interest is compounded annually at 10% per

annum?
a) 2420 b) 2552
c) 2662 d) 2750

62. UG r+ rn= CC (AR Thad & WY ry 3R
r, U7 C; 3R €, Q) g1 # B ok $5 8) 2, @
IYAE TRt Yansil @) T=n gra s
Find the number of common tangents, if ri + r2 =
Cq Cz2. (With usual notations, r1 & r; and C; & C; are
the radii and centres of the two circles.)

a) 1 b) 0
c) 3 d) 4

63. TP UFT Bl 14% & ATYH WX 166.44 TUT H 941 T[AT1 AfS
39 154.76 SUY T ST SATGT, O ATH 9T g1 BT ufasrd
fam g
A pen was sold for Rs. 166.44 with a profit of 14%.
If it were sold for Rs. 154.76, then what would have
been the percentage of profit or loss?

a) 5% BT 5% loss b) 6% TTH 6% profit
c) 5% @TH 5% profit d) 6% BT 6% loss

64. ufe wu geu, fasha gwa &1 72% B, @ @y ufaza
fpar 82

c)

65.

a)

c)

66.

a)

c)

67.

@HAd F 2 RFE aF Fgh)

If the cost price is 72% of the selling price, then
what is the percentage of profit?

(Correct to 2 decimal places)

38.89% b) 35.75%

32.25% d) 28.75%

T® g9, TP agysl ABCD ® IR 31 afd,DAB =
100°, 2ADB = 35° 3R CDB =40° g, @ ~DBC FT dTY
ITd |

A circle is circumscribed on a quadrilateral ABCD. If
¢<DAB = 100°, 2ADB = 35° and 2CDB =40°, then find
the measure of ~DBC.

35° b) 60°
45° d) 40°

TP 1Y o, 3oy 3R fasrg usp &rd &1 30 fa=i &
P IPd ¢ a7 faer 3rdpd IHH &l &1 80 faa &
PR AHAT 31 TP AIY I 3R o "yl srf 3t
fore fomf o rr ¥

Sanjay, Ajay and Vijay together can do a piece of
work in 30 days and Vijay alone can do the same
work in 80 days. In how many days Sanjay and Ajay
together complete the whole work?

48 &1 48 days b) 35 faH 35 days
56 a1 56 days d) 62 & 62 days

fFrafafEa gdia s Qefdre o 2019 8k 2020 F
R To §RIF F fafira faumn & et arat fenfiay
P GEIT I gTaT 71 Q& ¥ 2019 SR 2020 A
faenfiat @) $o T HU: 2000 AR 2400 A

ay 2019 3R af 2020 # fag ue ara faeniiay &
T=T PT ST faraT 82

The following pie charts show the number of
students studying in different departments of an
institute during the academic years - 2019 and
2020. The total number of students were 2000 and
2400, respectively, in academic years - 2019 and
2020.

What is the ratio of the number of students
studying science in the year 2019 to that in the year
2020?

Academic Year 2019

puter
Science
14%

Science
18%

Engineering

Commerce
25%

Humanities
21%
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a)
c)

68.

a)
c)

69.

a)
c)

70.

Academic Year 2020

Computer|
Science

Science

Engineering

Commerce

Humanities
19%

18:19 b) 20:21
15:19 d) 14:15
B Bl TIAPd PHoTE-

Simplify the expression-

p(p+1) = V((p+ 1)(p-5) +4p +5)
1-p b) 1+p
1+p? d p

3 UM SI/ARTE Bt FATS HH: 8 cm 3R 12 em
31 afg BIe S Y Uiikar 80 em® 3, @ 98 &1
eI (cm3 ﬁ) frant %?

Two similar jugs have their heights of 8 cm and 12
cm, respectively. If the capacity of the smaller jug is
80 cm®, then what is the capacity of the bigger jug
(in cm®)?

120 b) 192

216 d) 270

R & 7 aiftreT ve fAfYa gwe d ude i ot
fPT T aTeHE B gt B

e TIHH
FEarE | 20°

HIEAR | 45°

FYaR | 30°
T¥aR | 50°
HIR | 25°
THER | 55°
IFEar | 60°

T& H1Y AR 3R WEaR $ ool Py 71 aoaH
TUT TP 1Y YEPAR R AR & ol T T
AU F i BT e fora 32

The table given below shows the temperature
recorded every day in a certain week.

a)

c)

71.

a)

c)

72.

a)

73.

a)
c)

Days Temperature

Monday | 20°

Tuesday 45°

Wednesday | 30°

Thursday | 50°

Friday 25°

Saturday | 55°

Sunday 60°

What is the difference between the temperature
recorded on Monday and Tuesday together and the
temperature recorded on Friday and Saturday
together?

25° b) 20°
15° d) 10°

YEAT BT AT AT P4 +1-5+4+1-5+...47d
g dal

Find the sum of the series: 4+ 1-5+4+1-5+ ......
up to 47" terms.

4 b) -4
0 d) 5

'Clﬁ' sec 20 = cosec(0 - 36°) % ﬁ??ze Udh 1 BT %,
) © HTHH FTd BT

If sec 20 = cosec(d - 36°), where 20 is an acute
angle, then find the value of ©.

32° b) 46°
20° d) 42°

Frafafaa gda s wura 6 auf #§ & Hu-l Ft
faet o1 ufa=ra faavor gxifar 81 6 af ¥ oo fawt 9
IS ¢

The following pie chart shows the percentage
distribution of sales of a company in 6 consecutive
years. Total sales in 6 years is 9 crores.

Percentage distribution of sales of a
companyin 6 consecutive years

W1998
= A:1-1)
2000
Wz001
2002
Oz003

1998 ¥ HU-It & a1 fAewl, Te ATy 2000 3R 2003 A
HUt Bt P fywt 1 b= ufo=ra 82

Total sales of company in 1998 is what percent of
total sales of company in 2000 and 2003 together?
80% b) 60%

75% d) 40%
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74.

a)
c)

75.

a)
c)

76.

a)

77.

a)
c)

78.

a)

c)

79.

W9 W@ 9685 P "Q" ¥ fawifra forar e 7, @
YTTHd 56 3R A9EA 53 U gl &, df "Q" HT HIH
fPa @2

When a number 9685 is divided by "Q", then
quotient is 56 and the remainder is 53, then what is
the value of "Q"?

182 b) 172
175 d) 181

TP A Bl 5% B BT YA HIA & G TP
3T & ¥U F ¥ 27550 U §¢I afe Yma™ fee 1w
T H Td TY 10% BT S el 3 AT 3y FRUR Tt
3, d =fdd gRT oF af § wrw fa@ om wa
Biforg|

A person received ¥ 27550 as his income after
giving a tax of 5%. If the tax paid is increased by
10% in next year and the income is constant, then
find the net income received in next year by the
person.

327250
326930

b) 26600
d) 327405

[ ENGLISH ]

Select the option that can be used as a one-word
substitute for the given group of words.
A recurrent urge to steal, typically without regard

for need or profit.
Megalomania b) Kleptomania

Monomania d) Pyromania

Select the option that can be used as a one-word
substitute for the given group of words.

A person who presents a radio/television
programme
Anthropologist b) Anchor

Chauffeur d) Astronaut

Select the most appropriate synonym of the
underlined word in the following sentence.

Try to be frugal with your hard-earned money.
Imprudent b) Economical

Negligent d) Honest

Select the most appropriate ANTONYM of the given
word.

Credulous
Apprise b) Gullible
Repel d) Worldly

Select the most appropriate ANTONYM of the given
word.

Prejudicial
Detrimental b) Obscure
Attune d) Beneficial

81.

c)

82.

a)

c)

83.

a)

c)

84.

a)
c)

85.

a)

c)

86.

Select the option that expresses the given sentence
in passive voice.

The Targaryen princess is expanding the empire
slowly but surely.

The empire is being b) The empire was being

expanded slowly but expanded slowly  but
surely by the Targaryen surely by the Targaryen
princess. princess.

Slowly but surely, the d) The empire has been
Targaryen  princess s expanded slowly but

expanding the empire. surely by the Targaryen

princess.

Select the most appropriate meaning of the
underlined idiom.

She is on leave for a few days because she is in the
family way.

Not allowed by her family b) Getting a divorce

to work

Pregnant d) Thinking about quitting

the job

Sentences of a paragraph are given below in
jumbled order. Arrange the sentences in the correct
order to form a meaningful and coherent
paragraph.

A. In fact, | was shaking in my shoes as | watched
the scruffy-looking kid getting closer.

B. I kept telling myself to be brave but it wasn't
working.

C. I'd been watching him for more than a minute.

D. He looked mean and he shouted at the other
kids.

BDAC
BACD

b) ACBD
d) CADB

Select the option that can be used as a one-word
substitute for the underlined group of words.
She always speaks loud enough to be heard by

everyone.
Audible b) Edible
Legible d) Tariff

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.

If the shareholders don't agree to the proposition, it

is us who will convince them.
us who would b) we who would
d) No

required

we who will improvement

The following sentence has been split into three
segments. Identify the segment that contains a
grammatical error. If the sentence is error free,
mark '‘No error’ as your answer.
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a)

c)

87.

a)

c)

88.

a)

c)

89.

a)
c)

90.

c)

91.

c)

92.

a)

c)

Extroverts prefer / lively conversation to brooding /
on the meaning of life.

lively  conversation
brooding

to b) Extroverts prefer

on the meaning of life d) No error

The following sentence has been split into three
segments. Ildentify the segment that contains a
grammatical error. If the sentence is error free,
mark '‘No error’ as your answer.

Happiness is a perfume you cannot / pour on others
without getting / a little drops on yourself.

Happiness is a perfume b) pour on others without
you cannot getting

No error d) a little drops on yourself

The following sentence has been split into four
segments. Ildentify the segment that contains a
grammatical error.

Tommy Shelby visits Garrison frequently/ as he is/
the owner/ of the pub.

Tommy  Shelby visits b) the owner
Garrison frequently
of the pub d) asheis

Select the most appropriate option to fill in the
blank.

| have been
stomach ache.

___ my food ever since | had the

over b) for
off d) from

Select the most appropriate option to fill in the
blank.
That milkshake was so good | wanted to have

Another
Anyone

b) Anything
d) Everyone

Select the most appropriate meaning of the given
idiom.

In Cold Blood

Without feeling or mercy b) In a complete disregard

Get into trouble by d) Under all conditions
interfering in  other’s
affairs

Select the option that expresses the given sentence
in reported speech.

The carpenter asked me, "Can you crack on with the
mallet?”

The carpenter asked me
whethercould | crack on
with the mallet.

b) The carpenter asked me if
| am able to crack on with
the mallet.

The carpenter asked me if d)

| can crack on with the

mallet.

The carpenter asked me
whether | could crack on
with the mallet.

93.

a)
<)

94.
a)

c)

95.
a)

c)

96.
a)

c)

97.
a)

c)

98.

c)

929.

a)

100.
a)

c)

(93 - 97)Directions: In the following passage, some
words have been deleted. Read the passage
carefully and select the most appropriate option to
fill in each blank.
Behaviours are (A) or reactions we
make or activities we engage in. When something is
hurled at you, your eyes blink in a simple reflex
action. You are taking an examination and can
(B) your heart pounding. You decide to
go for a particular movie with a friend. Behaviours
may be simple or (C), short or enduring.
Some behaviours are (D). They can be
outwardly seen or sensed by an observer. Some are
(E) or covert.
Select the most appropriate option for blank A.

Answer b) Responses

Passive d) Response

Select the most appropriate option for blank B.
Felt b) Accept
Experienced d) Feel

Select the most appropriate option for blank C.
Smooth b) Complex

Plain d) Comprehensible

Select the most appropriate option for blank D.
Overt b) Covert
Secret d) Superstitious

Select the most appropriate option for blank E.
Without
Internal

b) Secretively
d) Enigma

Select the most appropriate ANTONYM of the
boldened/underlined word.

It is difficult to cajole him into consent.

Distract b) Dissent

Retard d) Exclude

Select the most appropriate synonym of the
underlined word in the given sentence.
The essayist's sole intention was to baffle his

readers.
Puzzle b) Influence
Scold d) Annoy

Select the INCORRECTLY spelt word.
b) Martyr
d) Hemmorrhage

Paralysis
Dungeon
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